AP Calculus BC
More Practice with Differentiation

Find %of the given functions.
X

1. y=xtanx

a) 5x‘tanx b) x’sec*x c¢) 5x*sec’x d) 5x*+sec’x e) 5x*tanx+x°sec’ x

2—X
2. y=
y 3x+1
a) — 7 _ b) 6x—52 0 — 9 _d) 7 ) 7—6x2
(3x+1) (3x+1) (3x+1) (3x+1) (3x+1)
3. y=+/3-2x
1 1 (3-2x)** 1 2 32
= b - T gy - 2(3-2
2 24/3-2x ) 3-2x 9 3 ) 3-2X ©) 3( X)
4, y= 2 3
(5x+1)
30 4 —6 10 43 30
- b) -30(5x+1) ¢ d) ——(5x+1 e
(5x+1)° ) —30(x+) )(5x+1)“ )53 )(5x+1)4

5. y=3x"—4x¥?-2

a) 2x¥* —2x2 b) 3x ™V —2x"? () 9 s _gy2 d) 2.2 e) 2x 7 —2xV?
5 X xy?
1
6 yo2dx_ L
y 20X
1 4x-1 1 1 4 1
Q) Xx+—= h) x+x¥ ¢ d) —+ &) —+——
) X~/ X ) )4x\/; )\/;4x\/§)\/;x\/§



7. y=vx*+2x-1

X+1 1 X+1
a) —— b) 4y(x+1) ¢) —F——— d) - e) none of these
y (x+1) 2% +2x -1 (x*+2x-1)"
8 y= X
COS X
2X 2X 2XC0S X — X* sin x 2XC0S X + X° sin X 2XC0S X + X° sin X
aQ — b) —— 5 d) 5 e —
sin x sin x CoSs” X CoS” X sin® x
9. y:sin(lj
X
a) cos(lj b) cos(—%j c) —%cos[l) d) —%sin[lj+lcos(lj e) cos(Inx)
X X X X X X) X X

1
10. y=
y 2sin 2x
a) —csc2xcot2x b) L c) —4csc2xcot2x  d) _cos2x e) —csc’ 2x
4.c0s 2x 2+/sin 2x
2
11. =1+X2
4x 4x —4x° 2X 4
a) - 2 b) 2 c) 2\2 d) 2 e) 2
(1-x*) (1-x*) (1-x?) 1-x 1-x
12. X*-y*=1
2 2
a) x b) 3x 0 b 9 X e X1
y y



13.

14.

15.

16.

17.

18

19.

X+cos(x+y)=0

a) csc(x+y)-1 b) csc(x+y) c)

sinx—cosy—2=0
a) —cotx b) —coty c) w
siny
3x* —2xy +5y* =1
a) 3x+y y—3x c) 3x+5y
X—5Yy Sy—X

a) {12} b) {0,-1,-2} c) {-12}

If f(x)=16x,then f"(4) isequal to

a) —32 b) -16 c) 4

. If a point moves on the curve x*+y* =25, then at (0,5),

2) 0 o) 1 ¢) -5

a) 0.016 b) 1.0 c) 5.0

X 1 1-sinx
. d) .
sin(x+vy) 1— x> siny
2 —COS X
d) —cscycosx e) -
siny

d)

d) {0}

d) -2

1
dy —=
) 5

d) 8.0

3x+4y

If f(x)=5"and 5" =5.016, which is closestto f’(1)?

e) none of these

If f(x)=x"-4x*+4x*-1, then the set of values of x for which the derivative equals zero is

e) {0,1,2}
1
e) -5
d2
is
dx

e) nonexistent

e) 32.0
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